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Task struct

struct task_strct

typedef struct Task_strct{ — - -
char pid;// AB cp. ZEM=O| Pidetid
Spent_t : =HE|0{OF & AlZt

int id;
int state;
SiITNIER| ==l A|ZH

int sched_policy;
//task_strct *next_sched; Total_t :
//cpu_state *my_cpu

//void * stack;

//Task's cpu time A Queuell F2(Q * myrq)
e e cpu S QueuedAo] AJZE

[/T'lme that task will spent cpu
int spent_time;
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Run Queue

struct

sched_queue

typedef struct Sched_queue{ ~
//what if FCFs? EHel quantum SE
// normal queue, task_struct A o]y & xH .
//what if RR? (H+2E defineEl) G &Policy

// context save/restore, =
//what if MLFQ? (FO &l taskAtE2 AT E)
// Multi Queue.... -> After
~// different TIME 1ike 2#*n_ Front task .. & Rear task...
int t1me._s'_l1ce, //t of m XtAlo| SMAaol= LIEH
int policy; MLFQY M, Atalel @M=/ E LIELY
task_strct *front; L
task_strct *rear; =
task_strct *next_task; //<- = my‘level
#1ifdef MLFQ_SCHED
#define HIGHEST_PRIORITY 0
#define LOWEST_PRIORITY 2
int my_Tlevel;
#endif

}sched_queue;

Job Queue

struct tasklist

(ZE HoM=

Joblist2tll =
2l LIC})

typedef struct Tasklist{
int arriv_T;
Z/arr time for current pointing task
task_strct * current;
tasklist * next_item;

}tasklist;
AlZt@rriv_T)Ol| [HE forkT|O{OF & Task X 2IE(current)
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CPU_EMPTY 0
CPU_RUNNING 1

#define
#define

Cpu_state (Cpull| 2HEH)

typedef struct Cpu_stateq
int cpu_state;
struct cpu_st2t //int cpu_no; for cacl
CPU cpueS //u64 cpu_running; ¥
= //Exception Divids
//Exception Inter
/..
}cpu_state;
Heap(STRIDE) | Struct typedef struct STR_Heap{
h trid 1Nt maxsize;
€ap_stnde int add_point;

task_strct ** arrofTaskStrct;

}heap_stride;

Maxsize : 2**n-12 HE3 = TlO| x| A7|.
Add_point: Ct20l 02 task| ?|X|( =length+1)
arrOfTaskStrct :
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_ModuTle_fork(tasklist * joblist,

At

ask_strct *

_Module_fork(), cpu(+ A
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void cpu
(cpu_state *
{

state ,

state->cpu_state = CPU_RUNNING;
task->state = TASK_RUNNING;
(task->spent_time == 0)
task->res_time = timestamp;

task->spent_time +=1 ;

task_strct *

task, int timestamp)

CPUXIZTZEL} cpus
SStChe HS EHS cp

71| Ho|ZEH

(task->spent_time == task->total_time){
state->cpu_state = CPU_EMPTY;
context_save(task);

footprint[task->id] [timestamp+l] = 1;
printf("%c", task->pid);
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tasklist [2] B 26

tasklist [3] C 4 4

tasklist [4] D65

tasklist [5] : E 8 2
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avg response_t : 4.60

avg turnaround_t : 7.60
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000000000000000000mmO0000000000

workload Complete Successly
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